ITEM DESCRIPTION

SIZE

IN HOUSE PRODUCTION

GRADE

FINISH

STANDARD

AVAILABLE

1 [FLANGE NUT(WITH SERRATION) M5X0.8 5/6/8/10 | Plain/Zinc Plated DIN 6923/JISB 1190 v
2 |FLANGE NUT(WITH SERRATION) M6X1.0(AF=10) 5/6/8/10 | Plain/Zinc Plated DIN 6923/JISB 1190 v
3 |FLANGE NUT(WITH SERRATION) M8X1.25 (AF=12) 5/6/8/10 | Plain/Zinc Plated JISB 1190 v
4 |FLANGE NUT(WITH SERRATION) M8X1.25 (AF=13) 5/6/8/10 | Plain/Zinc Plated DIN 6923 v
5 [FLANGE NUT(WITH SERRATION) M10X1.25 (AF=15) 5/6/8/10 | Plain/Zinc Plated DIN 6923 v
6 |FLANGE NUT(WITH SERRATION) M10X1.5 (AF=15) 5/6/8/10 | Plain/Zinc Plated DIN 6923 v
7 |FLANGE NUT(WITH SERRATION) M12X1.5(AF=17) 5/6/8/10 | Plain/Zinc Plated JISB 1190 v
8 |FLANGE NUT(WITH SERRATION) M12X1.75(AF=17) 5/6/8/10 | Plain/Zinc Plated JISB 1190 v
9 |FLANGE NUT(WITH SERRATION) M12X1.75(AF=18) 5/6/8/10 | Plain/Zinc Plated DIN 6923 v
10 |FLANGE NUT(WITH SERRATION) M12X1.75(AF=18) 5/6/8/10 | Plain/Zinc Plated DIN 6923 v
11 |FLANGE NUT(WITHOUT SERRATION) M5X0.8 5/6/8/10 | Plain/Zinc Plated DIN 6923/JISB 1190 v
12 |FLANGE NUT(WITHOUT SERRATION) M6X1.0 5/6/8/10 | Plain/Zinc Plated DIN 6923/JISB 1190 v
13 |FLANGE NUT(WITHOUT SERRATION) M8X1.25 (AF=12) 5/6/8/10 | Plain/Zinc Plated JISB 1190 v
14 |FLANGE NUT(WITHOUT SERRATION) M8X1.25 (AF=13) 5/6/8/10 | Plain/Zinc Plated DIN 6923 v
15 |FLANGE NUT(WITHOUT SERRATION) M10X1.25 (AF=15) 5/6/8/10 | Plain/Zinc Plated DIN 6923 v
16 |FLANGE NUT(WITHOUT SERRATION) M10X1.5 (AF=15) 5/6/8/10 | Plain/Zinc Plated DIN 6923 v
17 |FLANGE NUT(WITHOUT SERRATION) M12X1.5(AF=17) 5/6/8/10 | Plain/Zinc Plated JISB 1190 v
18 |FLANGE NUT(WITHOUT SERRATION) M12X1.75(AF=17) 5/6/8/10 | Plain/Zinc Plated JISB 1190 v
19 |FLANGE NUT(WITHOUT SERRATION) M12X1.75(AF=18) 5/6/8/10 | Plain/Zinc Plated DIN 6923 v
20 [FLANGE NUT(WITHOUT SERRATION) M12X1.75(AF=18) 5/6/8/10 | Plain/Zinc Plated DIN 6923 v
21 |HEX NUT M6X1.0 6/8/10 Plain/Zinc/Black 1SO 4032/DIN 934 v
22 |HEX NUT M8X1.0 6/8/10 Plain/Zinc/Black 1SO 4032/DIN 934 v
23 |HEX NUT M8X1.25 6/8/10 Plain/Zinc/Black 1SO 4032/DIN 934 v
24 |HEX NUT M10X1.25 6/8/10 Plain/Zinc/Black 1SO 4032/DIN 934 v
25 |HEX NUT M10X1.5 6/8/10 Plain/Zinc/Black 1SO 4032/DIN 934 v
26 |HEX NUT M12X1.5 6/8/10 Plain/Zinc/Black 1SO 4032/DIN 934 v
27 |HEX NUT M12X1.75 6/8/10 Plain/Zinc/Black 1SO 4032/DIN 934 v
28 |HEX NUT M16X1.5 6/8/10 Plain/Zinc/Black 1SO 4032/DIN 934 v
29 |HEX NUT M16X2 6/8/10 Plain/Zinc/Black 1SO 4032/DIN 934 v
30 |HEX NUT 1/2" UNC 6/8/10 Plain/Zinc/Black ASME-B-18.2.2 v
31 |HEX NUT 5/8" UNC 6/8/10 Plain/Zinc/Black ASME-B-18.2.2 v
32 |HEX SCREW M6X1.0 6/8/10 Plain/Zinc/Black DIN 933/1SO 4017 v
33 |HEX SCREW M10X1.5 6/8/10 Plain/Zinc/Black DIN 933/1SO 4017 v
34 INYLOCK NUT MB8(AF=13) 6/8/10 Plain/Zinc/Black DIN 982/DIN 985 v
35 |NYLOCK NUT M12(AF=19) 6/8/10 Plain/Zinc/Black DIN 982/DIN 985 v
36 INYLOCK NUT M14(AF=22) 6/8/10 Plain/Zinc/Black DIN 982/DIN 985 v
37 [SOCKET HEAD CAP SCREW (ALLEN BOLTS) 5X25 6/8/10 Plain/Zinc/Black DIN 912 v
38 [SOCKET HEAD CAP SCREW (ALLEN BOLTS) 6X25 6/8/10 Plain/Zinc/Black DIN 912 v
39 |SPRING WASHER FLAT M5 6/8/10 Plain/Zinc/Black DIN 127 v
40 (SPRING WASHER FLAT M6 6/8/10 Plain/Zinc/Black DIN 127 v
41 (SPRING WASHER FLAT M8 6/8/10 Plain/Zinc/Black DIN 127 v
42 (SPRING WASHER FLAT M10 6/8/10 Plain/Zinc/Black DIN 127 v
43 (SPRING WASHER FLAT M16 6/8/10 Plain/Zinc/Black DIN 127 v
44 (SPRING WASHER FLAT M18 6/8/10 Plain/Zinc/Black DIN 127 v
45 [SPRING WASHER FLAT M20 6/8/10 Plain/Zinc/Black DIN 127 v
46 (SPRING WASHER FLAT M24 6/8/10 Plain/Zinc/Black DIN 127 v
47 (SPRING WASHER FLAT mM27 6/8/10 Plain/Zinc/Black DIN 127 v
48 [SPRING WASHER (SQUARE) M16 6/8/10 Plain/Zinc/Black DIN 7980 v




